Electron Configuration Practice Worksheet

In the space below, wnite the unabbreviated electron configurations of the

L1 5

following elements:
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5) %neptzjnium | 26" 2043 ¢ 5s2y4”

In the space below, write the abbreviated electron configurations of the following
elements:

6)  cobalt Car\ Ug3d”

7)  silver Cirt Be )™ X excephon
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9)  radium Cenl e

10) ,.4lawrencium
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Determine what elements are denoted by the following electron configurations:
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1. Fill in the electron configurations
for the elements given in the table.
Use the orbital filling diagrams to
complete the table.

Electron Configurations for Some Selected Elements

Orbital filling
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2. Which element has the following orbital diagram? -}
3 Usmg arrows, show how the following orbltals will fill with electrons.
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4. What elements are represented by each of the following electron configurations?

a. 1s?2s? 2p° F

b. 1s? 252 2p°® 3s? 3p° 4s? Co
. a. What are valence electrons?

c. 1s?2s? 2p° 3s? 3p® 4s? 3d"° 4p®5s? 4d™ 5p* Te,
d. 1s® 2% 2p° 3s? 3p° 4s” 3d"% 4p° Br
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b. Explain how an atom’s valence electron configuration determines its place on the periodic table.
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c. List the number of valence electrons for the following atoms:

potassium = l ___ magnesium = 2— carbon = ’:I nitrogen = 5

15 35 3p s 3d 4§ Sp &S 5d7Ts

6. Place the following orbitals in order of increasing energy: 1s; 3s, 4s, 6s, 34, 41, 3p, 7s; 5d, 5p
7. What two elements are exceptions to the way we normally write electron configurations? Write the expected and
the actual conﬂguratlon of each. What rules are followed? What rules are violated?
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